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Denominators of both the fractions | &, Denominators of the fractions are
are same, that is 8. N different which are 6 and 2.
So, these fractions are LIKE KN So, these fractions are UNLIKE
{ fractions. | \ fractions.
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COMPARISON OF LIKE FRACTIONS

TERAINe ANy, T T T T
:_.;3;,‘_*,".. #3%

—— wzmyhj‘..‘,q. e TR ] 5 7
: T f { —~ < L
Pene — 12 12
e S I

12

12
While comparing 'like' fractions, just compare the values of the numerators.
Arrange the fractions in ascending order:

3 1 7
4 4 4 1 3
Compare the numerators. 1 < 3 < 7

7 -
SO, < < Ascending
4 4 4 Order
Write the fractions in descending order :

13 9 6 3
29 " 29 ' 29 : 4

ADDITION AND SUBTRACTION OF LIKE FRACTIONS

Like fractions can be added and subtracted as shown below.

'* Add the numerators. |
'+ Write down the same denominator.

- * Subtract the numerators. .
e Write down the same denominator, |

P 3,1 _3+1 (a4 | - 1 _ 5-1 _
Bl . 7 7 788 f o 5= 5 =
EXERCISE 22

Complete the table.

Subtract the fractions
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MORE ABOUT FRACTIONS

A . L esa

Proper fraction  Any fraction having its numerator.less than the
denominator is called a proper fraction.
1 6 3 1 are proper fractions.

—

Example: EX = 11’13

erator greater than or

Improper fraction $ Any fraction having its num ;
improper

equal to the denominator is called an

fraction.
7 9 11 13 ... improper fractions

—_—

Example: 3 g’ 10 ' 13

Unit fraction > When a proper fraction has 1 as its numerator, it

Mixed fraction is called a unit fraction.

/—\,/—-\m Example : — 111 5re unit fractions.
a

| ate one and a 3’ 2"5 10
toasts. ‘\ ‘ o '
) :

I mean (1 +i) toasts . \
z X .{ + 7 Whenever a whole number
2 i
- ; is combined with a proper
</

~

Full toast Half toast
1 o 1 fraction, we get a mixed

1 . 2 number.
1+ = isalso 1 1

2 . — = 3=
. 1 Example: 3 + 3 3 3
written as 17. 1
f - _ or 3—is a mixed fraction.
1= is a mixed number. - 4 4

2

{
LY

s

/1. Circle the proper fractions.

&\
&Y 9 3
- }‘

2. Circle the improper fractions.

5
3

i " P
el

Rt

@ o
=lo

3. Circle the unit fractions.

L% @)

:'-.": ' S ENLENLE NSE N

5|

olw
£

T
o
555
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5. @ Colour and

write the fractions (b) Colour and write the fractions

representing Friday and Thursday. representing month having

30 days and 31 days.

INIT-4 || FRACTIONS
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e~~~ _UNIT-4 | FRACTION

iz ‘A - - ,-'E:
— lS written as 1. = R - Qu(jtient Remainder
1 plus — is written as 1 — D | Divisor |

1. Divide. 2. lede

Op ENOF RO - Y

= L —= __5_— 1_1_ L —=
2 2 4 4 1S

©, | @ |0, | @
E 3 I 3 |
62 @_9_= @_7_= gf@i_ I S
| 2 sl S BEE: WA
O Ou_ | Py | Pu
s _ Os | P | Pu.
3 2 BERE A

Bu. 4 Pu_ | B | Pa.
e B i Bn
N N - m ) I c— e T ‘”“”“’”""“‘:"__‘_f__,,
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]);Vl}“)" ( i = 2 Pamﬁu/mb ,
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) 4 = 2 n B 5 0. ol
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e

1 e
2 5 e
2. ) 4 B
2
A BN
T o I, %,-, 1z avh
) ,/;:, S
82 Dinvde | — ok T .2
82 L _ ] _
U,) _%_» 6'!’"5 2 9
| 37
SU.& RS
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‘ |
5 L 21 am > FA3 ey
5
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chep s> st Ho Aum o) It Popdiet and ‘
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2y - RS
e R e
&,L QKPM Cacl~ ,{Y\ac}“ﬁﬂ ab am wnf}@f
'fjw‘e’kw' P x4+l 120 5
(L) 4=z D ) L > 3

90
= 9xX2+2 - )‘%&g: 3
9

T\ 210
(2) a’l'é’ 5 R = 4 %2 >L3§L 7

9
@) Vg P g = 8T g LS

L ——

3 8

Lolve uat I qpakens Jb grcas b7 ]
Y/W‘j)dj/ o Sohed above. | |
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Converting a mixed number into an improper fraction

Con

1
vert 3 5

Multiply the whole number

Step 1\} with the denominator of the

proper fraction.

' Add the p-roduc_t- tb t_hé

3x 2

into an improper fraction.

6

N BEEE B
-1
1+ 1 + 1 3

i)

Step 2)  numerator of the proper 6+1=7 1 1
e 7 Yfadi 34— =3
_fraction. S 2 2
Write the sum of the product l Total shaded parts = 7
oo | and the numerator of the 6 + 1 7 _
Step,3} proper fraction above the = —
| denominator of the proper 2 2
\_fraction. .
REMEMBER __ 2 X 3318 ;
2
The denominator of the
mixed number and the J
improper fraction always
remains the same.
EXERCISE 25
Express each fraction as an improper fraction.
(" A @ 1(\2) ﬁ@ w@ vy
a 6 x5 =30 s 52 51 na
30 + 2 =32 3 9 9 8
\ S A A J
Improper fraction = = (5) @ T@ ‘@ G
3 3 1 2
Hey! | can do the SE 3? 57 6_:'3'"
mental calculations. : )y b ) )
Multiply 6 x 5. Now, add 2. @ 1@ W@ ‘@ 1
30+ 2 = 32 Y ol ol 5
S0, 32/5 is the answer. 3 3 3 8
‘ s <7 < )
N (13 19 19 10
(R o~ 5 10+ | 1145
( Ve 2 5 2 11
L\}\:th ) A A A e
NN ENENEN

“UNIT-4 | FRACTIONS
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| LUNTT-A % FRAC TIONS

g A AL T “‘\.
ATRIC KY e ABCD is a square. Hquare PARS in made
MATHS s by joining the centres of the sides.

Likewine square LMNO is formed by
joining the centres of the siden of
square PQRS. Can you find the fraction
of the shaded area of the square ABCD?Y

EXERCISE 26

Complete the table. i
12
& 20
40
®
= -—37‘ 3+7 13 + 29
i =3
- =5 15 = 8 —g—
© 0
S i
9 0+9 18 + 25
[
v 55 11 + 23 =

31

-
()

0%
=11 13

19

21 = 87 13

29

7% 19

® ©

8 + 13

@
L sk sl e gl e
:
-1~
3
®

@)
N
‘ 21
S ~——— T i
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~ Converting an improper fraction into a mixed number

12
g - - < - - . .
Convert = into 2 mixed number.
.
.
‘St 1) Divide 13 by 2 !
Step Tieor i3 = 2.
. :
IS iow, write the fraction
‘Step 2) 2
D

pu—

Mixed Mumber = Q%

EXERCISE 27

Convert into a mixed number.

“hen there is no

I 1(2 - 1/3 3 remainder, your
1) 11 — £ 555 = 17 T answer will be a whole
2 4 4 6 number instead of a
} . {ﬁ - J}Q ) J} mixed number.
4 J S ) .
- —E - E— . 31— Example: — =5
3 6 4 a5/
o) ‘'Ol 0 A )
! - ) g3
D 13 Y 39 ¥ 52 P 8
12 14 3 L 5
(i — 3 '® 3
13 9 11 1 3
1§ T — - - ﬁ
Iy 0 ¥ 9 ¥ 55 ¥ 1w
E | 7 18 19 : 12 =
E UNIT-4 | FRACTIONS “ - TN AN
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R
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EXERCISE 28

i
=

1. Multiply the given fractions first with 2, then with 3 to get equivalent fractions.

6 9
o2

o

Pl
'.f:’." iy
P

e

s s .
P
wagy
-

)/

B

- 2. Cross-multiply to check whether the fractions of the given pairs are
: equivalent or not. Tick (V) the equivalent fractions.

(@ iand—

4§ FRACTIONS
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REDUCTION OF A FRACTION TO TH [;‘

—cwger e ey
g RS, LSRR

When we multiply both the numerator and the denominator. of a fraction by
the same number, we get an equivalent fraction of the fraction.

P (i (=i

} - ’ . ' 3 and & are all equivalent fractions,
e e ) 16 :

REDUCING A FRACTION TO ITS LOWEST TERMS

Likewise, a fraction can be reduced to its lowest terms by dividing its:
numerator and denominator by the HCF of

the numerator and the:
denominator. Let us consider an example to understand this. :

r—"\
BN
%
NN
[

Combine 2 equal parts - 2 _2+2 _2/2 _ 1

4 4:2 4/2 2
2 is the HCF of 2 and 4.
) o |
) = S
| NS s
. D

Dividing the numerator and §
the denominator each by 2

|

EXERCISE 29

1. Reduce the fraction to the lowest terms.

2 o 1§ 2
6 3% 8
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. simplify the fractions, " 1
T T T ——— ) T G
3 i1 12 1| 3 A J
9 |3 27 || it 125 | (& I8
on —Jﬁ\;‘ ) %‘:!‘) Jikrlﬂ ﬂ< ’ "
iy vy — N - 2 by i
15 i Loy 18,1 APl O
21 9 21 § 15 . 1.4
3 O~ _— " S Fo o = S
¥ — 1) 1k i 1) — ]
36 _ 18 1 i | 7120 | 1
. 133 192 | 7s GifE
L 3 — — - et . ;
\ A A A i R
1,2, 3, ‘2 are all equivalent fractions.
4 8 12 1

However, 11— is the fraction which is in its simplest form.

2 ) | 3 , ,
i - re all in their
Fractions 3' 5 7 a

simplest form as their numerators and
denominators cannot be exactly divided
by any number except 1.

¥ S We can say that a
3 { fractionis in its
E lowest terms when
the only common
factor between the
numerator and the
denominator is 1.

But, 6 is not in its simplest form because
it is exactly divisible by the HCF of 6 and

8 which is 2.

6(+2) _3
g (=2 4

We can reduce a
fraction to its
lowest terms
simply by dividing
the numerator and

the denominator by

their HCF.

FRACTIONS
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EXERCISE 30 4
Reduce the fractions to their lowest terms. :
e — B
B 90 125 90 204 180 .aé
l 180 250 162 272 300 :

13 |
25 72 117 20 _
350 144 255 495 ||
21 |
49 312 87401
343 666 264 435
25
23
391 420 230
32
24
244 122 294
39 ) (40 4
REE 96
195 36

255
165

v/

N

AT

e D & e g ' g -'"‘--_-' Siis i

47
36
430
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Examp’es :

= r

D) I
« How many hours are there i"% of a day?

There are 24 hours in a day.

;. How much is —;— of an hour in
minutes?

an hour has 60 min. Now, we have to find %of 24 hours.

Step 1 Divide hours: 24 =~ 8 = 3 hours.

1 of 60 min is same as 60 min < 3, Step 2
3

Multiply the number obtained in

60 min + 3 = 20 min step 1 by the numerator of the

fraction: 3 x 3 hr = 9 hours.

Ans. %— of an hour means
3

50 minutes. Ans. There are 9 hours in

o
y e

o

EXERCISE 31

1. Find the value.

5 of a day.
S

2. Word problems

—of 18 | | 5 of a day — of a dozen
6 (in hours) ! 3
A . —
(¢ h )
1 W@ 1 ; J 3
— of 35 ~ — of 1 litre 52 of a week
(in millilitres) -;
i g Nt <> ] Y
. Y Y | W
) J \kj 1 - J —4—of an hour
1 — 1 f164 | —5-of tkilogramj 5 = ©
3 of 56 | Y 0 | (in grams) | (in minutes)
' T A —~
~ < B
m n
Ol J 1 7 L33
) of 279 — of 512 3
— P S

o)

drank L
rank 5

_

she drink ?

Mina bought 500 m/ of milk. She
of it. How much milk did

-

— TN .//"\'\»/'
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- —— \"S
» Sapna lives 1000 m far from her school. """‘“L
How far has she walked ?
-
/‘,_\L’
C/’ - - L
Rohit received a bouguet of 72 flowers.
% of the flowers were roses. How
many roses were there in the bouquet?
L=<
“ay
—

A basket has 48 balls.%of the

balls are blue. How many balls are
blue?

@ (

A stadium has 800 seats. % of the

seats are empty. How many seats are
occupied by the spectators?

&

Ahmed got % of the 147 votes polled

in a school election. How many votes
did Ahmed get?

/'T\\ -/‘\'*f\\'f\\./
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EXERCISE 32 ”
Add the given fractions and write in the simplest form :
e ~N / M 3 et ""‘-—w.,-wm)_"k ,
T (2) (3)
S ) |
2 3 .._1_... __2_ + ..,:_l‘_— e i
5 2 3 5 3 4
; ) & J -
® fe O
1 1 5 1 1 7
6 ' 2 6 '3 2 "8
\_ J J o
@ 1(® MO,
9 7 4 3 5 5
=t L — — 4 13— il R
0 "8 £ogr i3y °5 "33
\_ 7 J L
10 NS A ®)
2 = 11 5 | 7 |
— 43— , —_— ) - —,
83 39 = 312 26 412+17_
= J & J & o
(13 e ) @ -
SN 1, 1 5, 1
- T —+ — A T
\ - J & sl
9 0@ \ @ ‘
3 9 : 7 1 7 1
—_—t i) —_— 4+ 8—- —_— m—
B ) & J i
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( . What to do "|f the sum y “; What to do if the sam o ® 3
4 hi of fractions is not in /Ur"} fractions is an improper ¥
ij_/‘) its lowest terms 7 {/‘I/;r./_ﬂ fraction 7 §
Let us take an example.
Let us take an example. a 5 -
2 . -;-+—6-=? LCM of 7 and 6 = 42 .*".
I tE=? LCMof3and6 =6
3 x6 5x7
2x2 .5 _4.5 7X6 6 x7 ;
3x2 6 66 Ll
= 4 + 5 = i_ 3 X 3 1_8 + 15_ = M = ig. "- :
6 6. 13 a2 42 42 42 42 Yot
snded foki s li Now, express this improper fraction A
2 2 2 as a mixed number, |
SO iy 0 1L )
i3 AT 2 ) 33,41 _ 1 ¢
42 42 = a2 ‘
s, 2+ 5,4 (fl |
S J ¢
EXERCISE 33 f

(1)  Another board having % inch thickness is
glued to it. What is the combined thickness ?

H i H H linch
A wooden board is > inch thick. [ 2 \

Sonam painted —i—of a wall. Susie painted

@ —572— of the same wall. How much of the wall

did they paint together?

Mohan weighs 46% kg. His sister
@ weighs 12% kg. What is their

combined weight ?
\—.

UNIT4 T FRACTIONS
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UNIT-4 | FRACTIONS

Aryan jumped 5—%— feet. Rahul
(4) Jjumped l—i— feet farther than Aryan. : 54 feet 15..50; E
~ How far did Rahul jump? , 2 %

®

Rajeev read% hour before dinner.

After dinner, he read % hour. How

long did he read in minutes?

©

Last year, Bobby was Sléinches tall.

Since then his height increased 1% inches.

How tall is he now?

g J: l i E
B 515 inches :

@

Rohit travels 1—3— miles everyday. Ajay
travels —g-miles more than Rohit. How
far does Ajay travel?

3
R

%%, .
S0
1)

Jim lives % km far from a stadium and
—;- km far from his school. He walked
home from the school and then to the
stadium. How far did he walk ?

N
;

. ST e
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A ruler is 1 foot long. Ram broke i of

i his ruler. How much length of ruler g left ?

.’\}/’

D e G T

uuni: Y1d§ ftt:lﬁl!f

g —

_—

_ J 11
A wire is 51—2—- metres long. o metres of
this wire is used. How much wire is left?

/

—

12
his lunch. How many eggs are left?

Ali had —Z— dozen of eggs. He used i dozen for

) 3
Mohan ran a race in 8 _16 minutes. Ravi ran

@ the same race in 6 —;i- minutes. How much

longer did it take Mohan to complete the race? Pl

2
@ Salim weighs 52—1—kg Aslam weighs 50—5— kg.

How much more does Salim weigh?

\

\

° k. How much more did the heavier d09
"eigh 7

@) One dog weighed 8—;— kg. Another dog weighed |
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EXERCISE 38

-

!,i-d{twq‘ c“h \h -*‘ “‘7;_. c5 “~1Aw '.".L

“

X 3 (Multiply
X 4 (Multiply

I
w|ro

the numerators)
the Genommator\)

020 1216 - s
UNTS | FRAcTioNS =

k

—
—

.3
2
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1. Multiply.
8 e B
@‘ 2 4 _2x4 _ 8 (b) 2 1 _ axl _ 4
< 3 5 3x5 15 | 5 3 5x3 IS
, 4 S ~
@_S_XL.. Bl o @ix_2_= AX?; -8
¢ 6 2 6x2 | 37 A 5 3 SHo I ;
> —— —
@ Lxt-Txl -7 @-_z_xi_.:%ff?..r..i_
< 8 " 6 @x6 48 37 5 87S S
- - ~
5 3 _5%3 . 15 8,2 _8xZ e |
© 8 4 gny 32 @ 7 73 %3 &)
- A J
2. Multiply and express the product into the simplest form.
(2) b ¢
6 .2 _6x2 _ 12_12/3 _ 4 4 3 |
7 3 7 x 3 21 21/ 3 7 7 8
N\ \_ Y,
) (O Yo Yo YO 1
2 x L 83 S .6 7.3
7 4 15 2 9 10 8 4
\_ I N N O
(9) RO, O, D .
3 x L WANS Y 9 5 3,1
10 8 8 12 | 10 6 5 2 3
G N\ N\ " _
@ \@ \@ ﬁ@ : J\
P — X— —_—X—_ = St 4
12 25 J 4 8 9 14 5 g 4
\ - A ' k
Q) © G — ~
—4—)(—8_ ix_]_‘_a —-6—X—1_ : 8 X—9—
8 7 12 1 6 3 -8— 9
SNBSS __/

EXERCISE 37
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s A%9 36
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Her b 36 ad 126 dA 13
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R —

There is w 1 Xx5=1 . I

thin 5 Reciprocals are also
somen' g” 1 30=1 known as multiplicative | ¢
commonina - g
30 inverse. Y
these sums.
The answer is 218 g Y,
13 7 {
always 1. e e %n_'
. ) ). ‘
! j
If the product of two fractions is 1, we can say that the two fractions are )
reciprocal to each other. :
1 . . , , - <
— is the reciprocal of 6. Likewise, If one fraction is reciprocal of the other
6 ) . 1 fraction, their product will always be 1.
615therecnproca|of?. %M:%x%: P @
. X y
Similarly, S w1 X7 - Se 4
7 5 7 x5 35 /

So, % is the reciprocal of —7—.

5

IMPORTANT TIP

To find the reciprocal of a fraction,

just interchange the values of the

EXERCISE 38

numerator and the denominator.

. . . E
Write the reciprocal of the given numbers. Example: The reciprocal of & is % o
: 2 o) "
- - reciprocal of — is —. 4
D, |©) ! 2 &
el i | Reci |
3 @ 3 50 e The reciprocal of 1 is 1.
b ﬁé) ﬁ e The reciprocal of 0 is not defined.
1 8 _ « If two numbers are reciprocal to each|
1—6[@ ']7 other their product is always 1. k<
( Be )¢ oo )
(5) 6 7 8 Y
g 1 9 o,
o[ Reciprocal > | +[Recmroeal) | —=[Redirocal, | 23 [wedprocaly |
=\ < 4& JL J ,
© . W & T
%lrie-im_ga‘l!;f) T[T!eclprocal/ 33‘ Recipro@ 13 Reciproga ‘ . . _i
\ A - JL —
"UNIT-4 [{ FRACTIONS , N
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() e
SoluRem v p\mw@iaqf% B
g
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o R e
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> G T aE T he

2
& g+ 5 ,
Solhion o peciprecad o Qivisen (&) 93 2
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Ral V= -
R 2 R4 |2
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uni4 | reacmions

A

p . . , : [n Loua ?
STEP 2P Multiply the dividend (——7-) by the reciprocal (F) }:};,J//)
8 W
: gz‘.,

e e e e e e

~
X
(o)

= ]

-

7 a_7 _ 8
g *8=% *7T

8 « 1 & Yo s

56 _ 56 + &

STEP 3 p Simplify the fraction. 5 - g

:—-7—=7
1

So, 7 pieces of —él— metre each will be made from

81 metre ribbon.

EXERCISE 39

1. Simplify.

A

b
=
<
=%
pov

@f
&
_Z\
©

2
o
il
O

1 1 1 1 3
—_— ] = — =~ — - =
7+ 12 = 8+ — 10 6+
. et A L 3
® 1O 10 RO =S ~

©
N\

=)
N\

&)
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2. Word problems

©,

8

) kg of sweets is to be equally distributed
among 16 students. How much will each
student get?

How many pieces of% m each can be cut

from a roll of 2 —;'— m length ?

How many cake pieces of —g— kg each
can be cut from a 4% kg cake?

How many packets of sugar of 1% kg each
can be made from 31 % kg of sugar?

How many pieces of —% m each can be cut

from a ribbon roll of 14-% m length?

®

Apple baskets of —%— kg each are to be
made from 144 kg apples. Find the number

of baskets which can be made.

N4 |

FRACTIONS
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